—y

QUICKIE

Q700-UP M SILENCER KIT
INSTRUCTION SHEET

AN

Parts included in kit:

1. Washer DIN988 14x20x1 A2 (gty 2)

2. Washer DIN988 25x35x1 ST (qgty 2)

3. O Ring ISO3601 6,75x1.78 NBR (qgty 2)

Please read these instructions carefully before beginning the assembly. Failure to understand and
follow assembly instructions may result in injury fo fechnician and/or end user and may void the
warranty. If you have any questions call Sunrise Medical Technical Support at +1(800) 333-4000.

Tools required

1. 2x4mm Allen key 4.
2. 6mm Allen key 5.
3. 13mm Spanner 6.

16mm Socket Wrench
18mm Socket Wrench
Torque Wrench

1. Lift the wheelchair so that the drive
wheels can be detached. Use the
16mm socket wrench to loosen the
nuts (Fig 1).

. With the 18mm socket wrench,
loosen the two M12 bolts that fix
the front tie down bracket and
remove the bracket (Fig 2). Keep
all hardware.

. a. Using two 4mm Allen keys, loosen
one of the M5 bolts thaft fix the
sliding bolt of the lower front
parallel arm (Fig 3).

b. Push out the sliding bolt and
detach the lower parallel arm
(Fig 4).

c. Detach the lower, large sliding
bolt (Fig 5).

Note: Keep all hardware and sliding

bolts from steps 3A, 3B, and 3C.

. The 25x35x1 washer needs to be
placed on the inside of the parallel
arm over the large sliding bolt
(Fig 6).

All hardware used in this step was

removed in Step 3 and will be used

for re-assembly (in reverse order).

a. Aftach the parallel arm over the
sliding bolt (Fig 7).

b. Align the front part with the
steering head and fit the small
sliding bolt (Fig 8).

c. Secure it with the M5 bolt. Torque
to 5 ft-lbos (7 Nm).

Sunrise Medical 2842 N. Business Park Ave Fresno, CA 93727 USA

-

& SUNRISE

Customer service: +1(800) 333-4000

or visit www.SunriseMedical.com

© 2020 Sunrise Medical (US) LLC
08/2020 253003 Rev. A Page 10f2




Y

Q700-UP M SILENCER KIT
Q U I C I(I E INSTRUCTION SHEET

j Please read these instructions carefully before beginning the assembly. Failure to understand and

follow assembly instructions may result in injury fo fechnician and/or end user and may void the
warranty. If you have any questions call Sunrise Medical Technical Support at +1 (800) 333-4000.

5. Add the 14x20x1 washer over the front M12
bolt after you have fitted it through the tie
down bracket (Fig 9). Attach M12 bolts (that
were removed in step 2) through the sliding
bolts. Torque to 50 ft-lbs (68 Nm). =<

6. As a next step slide one of the O-Rings over
the bottom Caster Lock fixation bolf.
a. First, using the 13mm Spanner, loosen the
counter nut on the inside and take it off
(Fig 10).
b. Next, using the 6mm Allen key, loosen and
take off the M8 bolt (Fig 10).
c. Attach the O-Ring and fit the bolt back to its
place (Fig 11).
4 d. Attach the counter nut and fighten it.
counter Torque to 10 ft-lbs (13 Nm).
nut

7. Attach the drive wheel. Torque lug nuts to
25 ft-lbs (34 Nm).

8. Complete the update on the opposite chassis
side following the same procedure.

Iv\8 boIT

A DEALER/TECHNICIAN WARNING
Attention dealers and qualified technicians, do not operate or service this device without first reading the owners manual. If
you do not understand the instructions and warnings in the owners manual please contact the Sunrise Medical Technical
Service Department before operating and/or servicing the Quickie device. Failure to do so may result in damage and/or injury.
Find more information and important warnings see the wheelchair owner’s manual or at: www.Sunrisemedical.com.

Sunrise Medical 2842 N. Business Park Ave Fresno, CA 93727 USA

‘ UNRISE Customer service: +1 (800) 333-4000 _ © 2020 Sunrise Medical (US] LLC
EDICAL or visit www.SunriseMedical.com ~ 08/2020253003 Rev. A Page 20f2




